Mathematixcs

Monday 15t February

The first quadrant

Watch the video link and answer the
following questions

https://vimeo.com/481214525



https://vimeo.com/481214525

The first quadrant
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® ®
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0 1 2 3 4 5 6 7 8 9 10
a) Write the coordinates of the points A, B, C and D.
b) Draw lines to join the points A to D to form a rectangle.

c) Write the coordinates of 4 different points in each column of
the table.

(5,3)

6 Here are coordinates for three vertices of a rectangle.
(3, 6) 7,3) (7, 6)
a) Plot the coordinates on a blank cordinate grid.

b) Write the coordinates of the fourth vertex.

/

° Here are coordinates for two vertices of a square.

(5, 2) (5, 6)

What could the coordinates of the other two vertices be?

Give two possible solutions.

o a) Write a set of coordinates that would join to make a right-angled triangle.
b) Write a set of coordinates that would join to make a pentagon.
c) Write a set of coordinates that would join to make a trapezium.

d) Plot your points from parts a), b) and c) on a blank coordinate grid
to check you are correct.

Compare shapes with a partner.

What is the same? What is different?

° Complete the coordinate for the isosceles triangle. O’

y
T ( , 75)

(10, 25) (40, 25)

» x
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o Here are coordinates for three vertices of a rectangle.

The first quadrant

(3, 8) {7, 3) (7, 8)
a) Plot the coordinates. '\E
4
10
9| !
D L
8- L L ]
! x *
&7 5
5.—
4 w
2_
A B
1= L ] ™ x
. o 5 10
o T2 3 4 5 & 7 B 5 W0 b) Write the coordinates of the fourth vertesx.
a) Write the coordinates of the points A, B, C and D. { 3 , 3 )
A2 D c( gl g p
B( 9 || | | D 7 L &P
o Here are coordinates for two vertices of o square.
b) Draw lines to join the points A to D to form a rectangle. @ (5, 2) (5, 6)
¢} Write the coordinates of 4 different points in each column of What could the coordinates of the other two vertices be?

the table. Vari answers
frees Give two possible solutions.

(( 90 2 panddf 94 || £ D

(5, 3)

(( V|| 2 pand( | || & ]
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The first quadrant

o Here are coordinates for two vertices of a square. o Eva has drawn an F on a coordinate grid. One point is labelled.
(5, 2) (5, 6) Suggest possible values for the other points and label them on
the diagram.

What could the coordinates of the other two vertices be?

Give two possible solutions. *——

o a) Write a set of coordinates that would join to make a right-angled triangle. 1 * (15, 18)

b) Write a set of coordinates that would join to make a pentagon.
c) Write a set of coordinates that would join to make a trapezium.

d) Plot your points from parts a), b) and ¢) on a blank coordinate
grid to check you are correct.

Compare shapes with a partner. O+

What is the same? What is different?

Compare answers with a partner.

Is there more than one possible set of answers?

o Complete the coordinate for the isosceles triangle.

Y
PN ( . 75)

«

CHALLENGE
(10, 25) (40, 25) QUESTIONS
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Voriows DS eS|
a) Write a set of coordinotes thot would join to make a

right-angled triangle.
(Liw) () (1)

b) Write a set of coordinotes that would join to make a pentageon.
(W) (34 (54 (2.3) (5.7)

¢} Write a set of coordinotes thot would join to make a trapezium.
(WD @2 @0 .S)

d) Plot your points from parts a), b) and ¢} to check you are correct.

14
134
124

114

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Compare shapes with a partner.

What is the same? What is different?

o Complete the coordinate for the isosceles triangle.

&
L4
=

a5 1,79

(10, 25) (40, 25)

o Eva has drawn an F on a coordinate grid. One point is labelled.

Suggest possible values for the other points and label them on
the diagram. Vouwriown answerse c\:j

fia, 20 e (15, 21)

(12, 16 14— (15, 18)

(12,158

Compare answers with a partner.

Is there more than one possible set of answers?
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Mathematixcs

Tuesday 2"d February

Four quadrants

Watch the video link and answer the
following questions

https://vimeo.com/481215270



https://vimeo.com/481215270

Four quadran

ts

L1 ] y
5
G F
& & L ]
B A
L 2 L 2
1
S5 4 -3 -2 -1 o| 1 3 4
-1
T D
® -2 ®
-3
E H
L ) L 2
-5

Write the coordinates of points A to H.

A . ) E(
B( ' } Fi(
cf ' } G(
D . ) H{

& 4 4 -3 -2 oo I:.f-tsu

Write the coordinates for each vertex of each square.

square A =

square B =

-
L]

-5 4 -3 -2 -1 0] 1 2 3 4 5

3
-2
=}
=5
a) Plot these coordinotes.
(-3, 0) (4, 0) -1, 5) -1, -5)

b) loin the points you have plotted to form o quadrilateral.
€) Complete the sentence to describe the shape you have drawn.

This quadrilateral is a © White Reae Maths 2019
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Four quadrants | e— 0

5
G F
L & L
B A
: : . o
1
4 b ox

5 -4 -3 -2 -1 0] 1 2 3 4 5

¢ b
L =2 [ ]
w3
E H
& -4 ®
-5
Write the coordinates of points A to H.
A S L2 p E( ~Lf|-L ]
B(-7L|2) FO Ll 4D
c(-3%]|-2p G(-LL[L ]
D 3L -2p Hi Lo |=Lp

[T

FEEEEEENEEEEREIES
Write the coordinates for each vertex of each sguare.

square A= (4.6) (-1,8) -1,3) (-4, %)

square B = {'Q,, 3"_:) {5.' '37' C:J- @‘) (S, ’C"-]

E o

a) Plot these coordinotes.
(-3, 0} (4, 0} (-1, 5) (-1, -5)

b) loin the points you have plotted to form o quadrilateral.

¢) Complete the sentence to describe the shape you have drawn.

This quadrilateral is a _":ﬂ.tf._ & Whits Rose Maths 3015
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=10 -2 - -4 -2 o 3 4 L] ] o

a) Plot these coordinotes.

(-8 4) (4, -2) (10, -5} (-4, 2) (-6, 3)

b) Write three other coordinates that would be in the same line.

C R

d Wobd b b L] )] CHALLENGE
[ wwiewa | awaws | QUESTIONS

The diogram shows two identical triangles.
( ' bt ' b ' b ' ) ° o Y

b) Write 4 different coordinates that are not in any single gquadrant. @ # / »x

\//

{ ¢ } { ¢ } {'12i _4} {'3.1 _4::' {2[.J _4}

(&

{ ) ) . ) Write the coordinates of points M and M.

@ M { ' ) N( ' )
What do you notice?
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F

Voripus  Onspgers,

a) Write coordinates for 4 possible points in each quodrant.

2L D | eop | d=wl|=tp ==
G50 1P qs LI pLqg=mg=29 %14
=211 P q=ulft plqgar-5p (3ol
(=S0121p (-l fap iz -ap 6 |-

b) write 4 different coordinates thot are not in any single quadrant.

(2L Op

{

0

O

}

(O [P

{

-3

0

)

What do you notice?

Y

<

¥
r‘ 4 4

¢ 2
ET) - & " 2 | 0 1 & & o

-2
4 1
;S
] L t

a) Plot these coordinates.
(-8, 4) (4, -2) (10, -5) (-4, 2) (-6, 3)

b) Write three other coordinates thot would be in the same line.

G (0,.0d

(a,

-1)

o The diogram shows two identical triangles.

1

3

¥
.

|

-12, -4)

q{\/

'3.1 -"_i_}

Write the coordinates of points M and N.

M{-!:LJ |q}

N (

20|,

5

)

= I]J/ b
1%
(20, -4)
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Mathematixcs

Wednesday 3" February

Translations

Watch the video link and answer the
following questions

https://vimeo.com/481216178



-
Translations el 0 ]
-
B
.
7=
¥ =1 = -
o 101 . 5 a he translation
a fromAto B is
9 2 1 right and 1 up.
8 24
R N
74 L ]
T #x
5 ¢ 1 2 31 4 5 & 7 B 9 10
Q
57 * Do you agree with Rosie?
4 Explain your answer.
3-
P
24 L ]
1
T T T T T T T —F x
0 1 2 3 4 5 6 7 8 9 10
o Translate the triangle & left.
Describe the translotions. ¥
a) FromPto Qs right and up 5
b) From Q to R is right and up ‘
3
€) From R to 5 is left and up »
d) From5StoPis —  and - ¥
+ b x
&) From Q to P is _  and - -5 4 -3 2 10 1 2 3 4 5
| | | | - | | | | |
f) FromRtoQ is _  and -2
-3
g) From 5 to Ris — and
-4
h) FromPto5is — and -5

& White Rose Maihs 2013
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x
Translations el o ]
o
B
o
7
¥ *]
o 1!1: ¢ = A The translation
] from A to B is
9 = 1 right and 1 up.
2 2
R N
7 L]
& 1 3 3 4 5 87 8 s w0
Q
57 ® Do you agree with Rosie? Mo
4 Explain your answer.
3 { She hoo loded ox tho Corngs clowet bo esch other ot
o
re
1
T T T T T T T —h X
0 1 2 3 4 5 & 7 8 9 10
o Translate the triangle & left.
Describe the translations. ¥
a) FromPto Qis | J |rightand| & |up 5
. : q
b) FromQtoRis | 5 |right ond 2 up
3
c) FromR to5is q left and 3 up »
d) FromStoPis | | |Lfgbt  ond| § [down i
+ b x
e) romQtoPis | ) |1k  and| J | _down 5 4 3210 1 23 45
f) FromRto Qis | & _L-"-H._und 1 | dowy -2
. -3
g) FromSto R s q _Lﬁh._'-" and| 3 | down
-4
h) FromPto 5 is | _J.Q.H'._ and 8 e -5

© 'White Rose Meaths 2019
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o These coordinates form a quadrilateral: (-5, 5), (-5, 1), (=1, 4), (=1, 2) o A trigngle is drawn on the coordinote grid.

¥
It is translated 3 right and 4 down. 4]
Draw the quadriloteral on the grid in its new position. @ %
(-8, 1) ’
- 1
5 i \ ¥ x
RPN % 5 4 3 2 a0 1 2 3 &4 5 & 7 &8 9 1w
d -1
3 -2
-3
2
-
1 (-8 -9 (-4, -4)
-l
"% 4 3 2 10 1 2 3 4 s *
- a) Translate the triangle 9 right and 1 down. %/;
N b) Tick the correct box for eoch coordinate.
-3 f
. Inside the Outside the On the perimeter
-4 Point . o ]
new triangle new triangle |of the new triangle
., CHALLENGE oy

QUESTIONS | &3

2, -1
o ¥ -6, -3)
‘ (3, -4)
B v
o o i
¢ {-21, =11) P

s
r
=

\ ‘ (40, -40) (-10, -40)

This parallelogram has been translated 50 left and 25 down.

r

Which triangles are translations of each other?
What were the coordinates of all four vertices before it was translated?

Explain why the others are not translations. @

& White Roce Maths 2019
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o These coordinates form a quadrilateral: (-5, 5), (-5, 1), (-1, 4), (-1, 2) o A triangle is drawn on the coordinate grid.
¥

It is translated 3 right and 4 down. "
Draw the quadrilateral on the grid in its new position. @ i %
| | 3
¥ (-8, 1)
FY | 1
5 [ [ + \ - - *x
-0 8 B % -5 4 -3 -2 - 0 2 3 &4 5 & 7 B 9 10
A ! -1
3 =2
-3
2
=i}
(-8, -4) (-4, -4)
=
= T3 5 x _‘"
a) Translate the triangle 9 right and 1 down. 2'/;
b) Tick the correct box for each coordinate.
Point Inside the Outside the On the perimeter
- [ new triangle new triangle  |of the new triangle
=] ' (©, 0) v /
(4, -5) Jy v

2, -1) v,
(s ) y (-6, -3) P v

T 3, -4) v
A ) i
D F
p > x fjs-i,—aﬂ -21, -11) P
\ 1 ‘ (~40, -40) (-10, -40)

This parallelogram has been transloted 50 left and 25 down.

Which triongles are translations of each other?
What were the coordinates of all four vertices before it was translated?

A D ondE
‘ (=1, ) (39, w) (wp-15) (W0, -is)
Explain why the others are not translations. @

& White Roce Maths 2019




Mathematixcs

Thursday 4™ February

Reflections

Watch the video link and answer the
following questions

https://vimeo.com/481620188



https://vimeo.com/481620188

Reflections o Reflect the triangle in the y-axis. i

¥
Fs

[T ]

o Five parallelograms are shown on the coordinate grid.

-1

v 0 8 B 7 6 5 4 3 -2 10 2 3 4 5 8 T B

Y

P

! &

™
F-9

b

4 ¥ x
-5 4 -3 -2 1 0 1 3 3 4 5
=1
¥ X
=2
-3
-
-5

a) What is the name of the shape plotted on the grid?

| . . | . . b) Reflect the shape in the x-axis.

-

a) Tick the shopes that are translations of shape A.

b) Circle the shapes that are reflections of shape A.

& White Rose Maths 2019
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Reflections

o Five parallelograms are shown on the coordinate grid.

¥
rY

Y

-

a) Tick the shapes that are translations of shape A.

b) Circle the shapes that are reflections of shope A.

-

n 8 7 & 5 -4 -3 -z 110 :3-Iil?1!1P

]

Fs
-
]

r

L

a) What is the name of the shape plotted on the grid?
_Trapezium

b) Reflect the shape in the x-axis.

© ‘White Roee Maths 2019




o An octagon is shown on the coordinate grid.

2

1

T 7 5 5 @ 52 a9 12 3 a5 8 7 s s CHALLENGE ¢ ' ) ' )

—4

— — 2

. L -3

a) Reflect the shape in the x-oxis.

b) Translate the new shape 10 right and 10 down.
¢) Reflect the new shape in the x-oxis.

d) What do you notice?

e) Create a similar question for your partner to complete.

e The shape is reflected in the line marked L.

(-5, 15)

(=20, 10)

F.

y L

E

Work out the coordinates of the

The new vertices are at

5

new vertices,

QUESTIONS

Y,
®
<

e The isosceles triangle has been reflected in the line marked L.

Work out the missing values.

(¥, 40)
@ A

(-55, 4&)

{-30, -60)

e ] 1 4 B

e

e
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o An octagon is shown on the coordinate grid.

¥
FY

o
E
5
o
3
1
b 5 % 5 w4 3 2 a0 { 2 3 4 5 & 7
-1
-2 p— L e
-3
-
-
7
- - L
-
-

a) Reflect the shape in the x-axis.

b) Translate the new shape 10 right and 10 down.
¢) Reflect the new shape in the x-axis.

d) What do you notice?

e) Create a similar question for your partner to complete.

QO

o The shape is reflected in the line marked L.

¥ L
(-20,15 5151+ |
2010 S ]
+ # X
5
Work out the coordinates of the new vertices.
The new vertices are at

o The isosceles triongle has been reflected in the line marked L.

Work out the missing values.

(1, 40) e

Ll

(-55, #8) l 0

<l PO <

-30

N

" A




Friday 5t February

Skills Check



Name:

Date:

Class/Group:

A: Place Value, Add, Subtract, Multiply and Divide | B: Fractions, Ratio, Proportion and Algebra C: Measure, Position and Direction
&1 &7 615,719
1. Write in words: 11. Simplify this fraction fully: 18 21. 400ml of water are poured out of
2,034,601 54 a 2.25 litre bottle. How much is left?
51 = 513
2. What is the value of the 3 in this 12. 1 2 3 _ 22. How many hours are there in
number? 1,384,721 - three days?
61 69 620
3. Round 7.186 to the nearest whole 13. 1. 3 - 23. These rectangles have the same
number. 3 area. Find the missing side length.
6.2 &:10 'Y
4. The temperature drops from 1°C to 14. What is the value of the 8 in this Acm ?sm
_ -} = H ? .
11°C. What is the difference? number: 25.738 — +—8cm—»
53 E:11 627
L. 2,140 % 32 15. Give your answer as a decimal: 24, What are the co-ordinates of A?
26+8 _1;“
63 3%
G. 7,242 + 17 16. Write this fraction as 4
a decimal and a percentage. 3
54 513 2
7. 15 and 27 only have two common 17. Find 75% of 520. X
factors. What are they? -
=3 =17 £ 3 = ¢ o] T I F ¥ 5%
8. The number 30 has three prime 18. The ratio of cats to dogs 3:2. If -t
factors. What are they? there are 15 cats, how many dogs? -2
53 15 =
a, (25+13) <2 19. I have m pence. | spend 17p. Write "
an expression for this. B C_E
56 517 628
10. How many 52-seater buses doesa | 20. Write a possible value for a and b. ' 25. Translate triangle ABC 5 units
school need for 198 pupils and staff? 2xa+h=17 right and 2 units up.
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)
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A: Place Value, Add, Subtract, Multiply and Divide

B: Fractions, Ratio, Proportion and Algebra

C: Measure, Position and Direction

5.1 &7 £.18/19
1. Write in words: Two million, thirty four 11. Simplify this fraction fully: 18 1 21. 400ml of water are poured out of 1.85| or
2,034,601 thousand, six hundred and one. 54 3 a 2.25 litre bottle. How much is left? 1.850ml
'’
51 25 E:19
2. What is the value of the 3 in this 12. 2 3 11 22. How many hours are there in
5 300,000 1--+ = = 5 72
number? 1,384,721 12 three days?
5.1 53 620
3. Round 7.186 to the nearest whole 13. 1., 3 - 1 23. These rectangles have the same
number. 7 3 9 area. Find the missing side length. 3
6.2 610 'Y
4. The temperature drops from 1°C to 14. What is the value of the 8 in this 8 Acm ?sm
qae . . 5 12°C _
11°C. What is the difference? number: 25.738 1000 “Ems — 8m—>
5.3 511 627
5. 2,140 x 32 15. Give your answer as a decimal: 24. What are the co-ordinates of A?
68,480 26~ 8 3.25 "
Y
63 1z g
G. 7,242 =17 16. Write this fraction as 0.5, 4
426 a decimal and a percentage. 50% 3
&4 513 2
7.15 and 27 only have two common 17. Find 75% of 520. A | _ (-3,-1)
factors. What are they? land3 390 \ ~
= =i 5 ol 1 T 5
8. The number 30 has three prime 2,3, 18. The ratio of cats to dogs 3:2. If ' H— AU
factors. What are they? and5 | there are 15 cats, how many dogs? 10 s 1
] 15 3
a. (25+13)+2 19. | have m pence. | spend 17p. Write "
19 an expression for this. m-17 -
56 517 ) . 528
10. How many 52-seater buses does a 20. Write a possible value for a and b. Any 2 25. Translate triangle ABC 5 units
school need for 198 pupils and staff? 4 2xa+hb=17 that work | right and 2 units up.
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)




